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For me this turned out to be sort of a challenging problem from

A & the 2025 Math Calendar ([1]).
Given equal line segments AB = CD, what is angle 6 in
degrees?
00
B

Solution

I initially played around with a square with diagonal CD rotated
in a circle with radius CA. It looked like I wanted to find a 30°
angle that I could subtract from 45° to get an answer of 15°. So I
started looking for a 30-60 right triangle and suddenly there it was.
So the answer was even simpler to arrive at.

The other half diagonal of the square was perpendicular to the
original diagonal and made a 30-60 right triangle (Figure 1).
Therefore o + 0 = 60°. But o = 45°, so 6 = 15°.

(Whiff of a Coffin Problem.)

Figure 1
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